				TITLE OF INFORMATION COLLECTION DOCUMENT					OMB NO.			
				Scrapei in Sheep and Goats; Flock Certification, Interstate Movement, and Indemnity Revisions					0579-XXXX			
							DATE PREPARED					
IDENTIFICATION C	OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN								
					REPORTS				RECORDS			
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)		
9 CFR 79.2(b)(1), 79.2(b)(3)	Data Assigning Official Identification to Flocks - Private Sector - Business	VS 5-11, 5- 11A, 5-12, 5-12A	100.00	12.00	1200.00	1.00	1200.00			0.00		
	Not-For-Profit		25.00	12.00	300.00	0.75	225.00			0.00		
9 CFR 79.2(f)(6), 79.3(a)(3), 79.3(g)	Owner/Hauler Statement and Bill of Sale - Private Sector	VS 5-13	155000.00	2.00	310000.00	0.08	24800.00			0.00		
9 CFR 79.2(k)(2) (iii)(D)	Data Entry of Official Identiifcation Devices Produced and Assigned (Recordkeeping) - Private Sector		6.00	4000.00	24000.00	0.25	6000.00	5000.00	1.00	5000.00		
9 CFR 79.2(b)	Application for and Assignment of Identification Numbers - Private Sector - Business and Farms		25500.00	1.00	25500.00	0.08	2040.00			0.00		
	SUBTOTAL				361000.00		34265.00	5000.00		5000.00		
	TOTAL OF ALL PAGES				537552.00		65278.00	30700.00		56800.00		
TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c					568252.00		122078.00					

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement, and Indemnity Revisions

TITLE OF INFORMATION COLLECTION DOCUMENT

0579-XXXX

OMB NO.

DATE PREPARED

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average **NOTE:** The columns will calculate automatically. If Col. E's response is something other than annually i.e. 1/6 years list as "1/6" & decimal will display

annually, i.e., 1/6	years, list as "1/6" & decimal will display.											
IDENTIFICATION C	F REPORTING OR RECORDKEEPING REQUIREMENT											
				REPORTS						RECORDS		
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-		
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS		
REGS.		so state)		PER RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD- KEEPER	(Col. I x J)		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)		
	State, Local, and Tribal Governments		6.00	1000.00	6000.00	0.08	480.00			0.00		
9 CFR 79.1, 79.2 (b)(1 to 4)	Application for Premises Identification Numbers and Flock Identification Numbers and Request to Change Information Associated with these Numbers - Private Sector - Business and Farms		25500.00	1.00	25500.00	0.17	4335.00			0.00		
	State, Local, and Tribal Governments		6.00	1000.00	6000.00	2.00	12000.00			0.00		
9 CFR 54.8(b), 79.2 (a)(3), 79.2(f)	Recordkeeping, Identification - Private Sector				0.00		0.00	25500.00	2.00	51000.00		
9 CFR 79.3(k)	Amendment of a Livestock Facility Agreement - Private Sector		10.00	1.00	10.00	0.20	2.00			0.00		
9 CFR 54.7(e)(2) (iv), 54.8(j) (1)	Flock Plan or Laboratory Disinfection Worksheet - Private Sector - Business and Farms		2.00	1.00	2.00	0.50	1.00			0.00		

SUMMARY OF INFORMATION COLLECTION 3 of 5

REPRODUCE LOCALLY. *Include form number and date on all reproductions.*

SUBTOTAL 37512.00 16818.00 25500.00 510

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

Scrapie in Sheep and Goats: Flock Certification, Interstate Movement, and Indemnity Revisions

TITLE OF INFORMATION COLLECTION DOCUMENT

0579-XXXX

DATE PREPARED

OMB NO.

200.00

50.00

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than

annually, i.e., 1/6 years, list as "1/6" & decimal will display. IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT ANNUAL BURDEN REPORTS RECORDS TOTAL NO. OF FORMS NO (S) NO. OF NO OF TOTAL ANNUAL HOURS TOTAL ANNUAL RECORD-SECTION OF RESPONDENTS RESPONSES RESPONSES PER HOURS RECORD-DESCRIPTION (If "none" HOURS PER KEEPING HOURS RESPONSE REGS KEEPERS RECORDso state) PER (Col. D x E) (Col. F x G) (Col. I x J) RESPONDENT KEEPER (A) (B) (C) (D) (E) (F) (G) (H) (I) (J) (K) State, Local, and Tribal Governments (to meet EPA 17.00 0.50 0.00 17.00 1.00 9.00 requirement) Terminal Feedlot Request for Approval/Agreement and 9 CFR 54.1, VS 5-10 50.00 1.00 50.00 0.25 13.00 200.00 4.00 800.00 Recordkeeping, Terminal Feedlots 79.1 Private Sector 9 CFR 79.1 Concurrence with APHIS/State def Low-risk Animal Designations - State, 5.00 1.00 5.00 0.17 1.00 0.00 exposed Local, and Tribal Governments animal Approval of New Tests or Test 9 CFR 54.10 10.00 0.00 1.00 1.00 1.00 10.00 Methods - Private Sector 9 CFR Approval of Alternative ID Devices 1.00 1.00 5.00 5.00 0.00 1.00 79.2(a)(2) or Methods - Private Sector 9 CFR Approval/Renewal of Official ID 6.00 1.00 6.00 2.00 12.00 0.00

Devices - Private Sector

SUBTOTAL

79.2(k)

80.00

800.00

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

 $\label{eq:continuous} (F)Total/(D)Total = (E)Average \qquad (H)Total/(F)Total = (G)Average \\ (K)Total/(I)Total = (J)Average$

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

Scrapie in Sheep and Goats; Flock Certification, Interstate Movement, and Indemnity Revisions

OMB NO.

U5/9**-XXXX**

DATE PREPARED

IDENTIFICATION O	OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
			REPORTS REC					RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
9 CFR 79.3(k)	Compliance Agreement and Responses Required by the Agreement - Private Sector		100.00	12.00	1200.00	0.30	360.00			0.00
54.10(h), 9 CFR 54.11(c), 9 CFR 79.4(c)	Appeal Process - Private Sector		10.00	1.00	10.00	1.00	10.00			0.00
9 CFR 79.5(a)(4)	Interstate Certificate of Veterinary Inspection, Signature - Private Sector		27500.00	5.00	137500.00	0.10	13750.00			0.00
	State, Local, and Tribal Government		50.00	5.00	250.00	0.10	25.00			0.00
					0.00		0.00			0.00
					0.00		0.00			0.00
	SUBTOTAL				138960.00		14145.00	0.00		0.00